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Section — A (Short Answer type questions)
Answer All Questions
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What is the importance of system formalization in embedded
system design.

Explain the characteristics of networked embedded systems.

What are the major components of the PIC 16F84A microcontroller
Explain the difference between program memory and data memory
in the PIC 16F84A

Name two microcontrollers in the PIC 16F87XA family.

What is the function of the I/O ports on the PIC 16F873A

What is a semaphore in Micro/OS-II

What is a soft real-time system

What type of processor is commonly used in digital cameras

What are the security features of a smart card

Section B (Essay Questions)

Answer all questions, each question carries equal marks.
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Explain the differences between hard real-time and soft real-time
embedded systems with examples.

OR
Describe the role of hardware and software co-design in embedded
system development.

Explain the role of the memory organization in the PIC 16F84A

architecture.
OR

Describe the different parallel ports operation for the I/O ports of
the PIC 16F84A.

Describe the different oscillator modes available in the PIC
16F873A and their applications.

OR
Discuss the architecture of the PIC 16F873A CPU and its

advantages.

List the key differences between a general-purpose operating system
and a real-time operating system.

OR
Briefly discuss about the architecture of Micro/OS-II and its
advantages.

Describe the challenges in integrating wireless communication into
automobile embedded systems.

OR
Explain the basic architecture of an embedded system used in a
smart card.

(25 Marks)
Course B.T Marks
Outcome Level

COl1 L1 M
COl1 L2 3M
CO2 L1 M
CO2 L2 3M
CO3 L1 2M
COo3 L1 M
CO4 L1 M
CO4 L1 3M
CO5 L1 M
CO5 L1 3M

(5 X 10M = 50M)

CO1 L2 10M
CO1 L2 10M
COo2 L2 10M
CO2 L2 10M
CO3 L2 10M
CO3 L3 10M
CO4 L3 10M
CO4 L3 10M
CO5 L2 10M
CO5 L2 10M
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